asym_atll

asym_atrl

asym_atl2

asym_atr2

run7871 000 re

5000

=5000

10000

— 700

50 100
diff_bpmXum

15n:mn —
C —( 8010
10000
- —{700
5000 —s0t
0
5000 |
10000 |
- H B
15000 100
| |
B | | | | | I 1 1 | | | | | | | | | | | | I D
- 100 50 0 50 100
difi _bpm1Xum
diff_ bpmlX
- — 100
40000
3nnoo
- —{800
20000
10000
oF
10000 |
20000
30000 | 200
40000
50000 —3en 50 0 50 o0 ©
diff_bpm1Xum
®
| —{ 14
60000 [ i
40000 |
i —10f
20000 |-
ol
20000
- 400
40000 —
i 200
BOOOD

!
—1{:'[:! 11}0

10000

5000

~5000

10000

—700

20 10 0 10 20
diff_bpmda¥ium

diff

15000 |- —

_ —lanr
10000 [ —{s0t

N —700
5000 —

of-
~5000 |-
10000
15000 — 100
N |
_III|IIII|IIII|IIII|IIII|II ﬂ
30 10 ) 10 20
diff bpmdaYium

'l-

E —lanr
40000

~ —{ 800
3p00o

= —{700
20000
10000

oF
10000 |
20000
ap0oo
40000 u u 100

a [ |

Cr oo Lo v by g v b v a by v g
50000 30 10 ) 10 20 0

diff_ bpmdaYium

-

: —lanc
60000 [~ ot
40000 —{7or
20000 -

ﬂ,'_
20000
40000 -
80000

_III|IIII|IIII|IIII

10000

5000

~5000

10000

—70C

100

50 100
diff _bpmdeX/um

1EDDD —
- — 80t
10000 |-
_ —70c
5000 |- —lgoc
of
~5000 |
10000 |
15000 | 101
N |
_I|IIII|IIII|IIII|IIII|I ﬂ
100 50 ) 50 100
difi_bpmdaX/um
l
: —10c
40000
30000 - —lanc
20000
10000
oF
10000
20000
apooo 200
40000
EDDDD:'|'"'Illllllllllllllll 0
100 _50 ) 50 100
difi_bpmdaX/um
ﬂjfL
| I
o000 o
40000 I~ 100
20000 -
ﬂ_—
20000
40000
i 20(
&0000

oressionmr-asym at vs diff bpm

|
Ll |
00 100

5000

=5000 —

10000 — n -

20 <15 10 -5 O 5 10 15 2D

diff_bom4eY/um
diff

15000
10000

5000

=5000

10000

15000

20 <15 10 -5 O 5 10 15 20
diff_bpmday/um

diff hpméleY
40000
20000

20000

10000

10000

20000

30000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

|
[ |
50000 el berer b berrr b b brva v b

40000

20 -16 -10 -5 ©0 & 10 15 20
diff_bpmdaY/um

diff _hpméleY

60000

40000

20000

20000

40000

G0000

-2 =15 -10 -5

L:Zpostpan.png--

— 700

100

—| 700

200

100

— 700

100

— 700

100

5000 —

=5000 —

10000 —

_IlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

d'
15000
— 100

10000

5000

=5000

10000

15000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Ll b by Bvas bva bvaa bvana baa i 1 0
200 <150 <100 50 O 50 100 150 200
diff_bpm12Xium

40000

30000
—25(

20000

10000 —200

10000

20000

30000

40000

=
IIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIlIIIIIIIII

Bl b bvrre brrrr b brv o bevwn b aa
EDHUU—E{?D 180 =100 =50 1] B0 100 160 200 o

diff_bpm12X/um

60000

40000 —loE(

20000

200

20000

40000

60000

==
IIIIIIIIIIIIIIIIIIlIIIIIIIIIII

v v b by v v B Be e 1 0
-200 150 -100 -50 O 50 100 150 200
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7871 000 r

5000

5000 —

10000 —

— 700

5000

=5000

10000

100

diff_bpmXum

— 700

5000

=5000 —

100

difi _bpm1Xum

—{70C

5000

=5000

10000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

100

diff_bpm1Xum

— 700

— 600

50C

400

300

200

100

15000 L

- 100

ression -reg

Cco

100

10000 - —laoc

I —{aor
5000 —|700

ﬂ -

5000

B [ |
10000 [~ . =

L1 1 | | I I | | | I I | I | I I | | L1 1 1 | L1
20 10 ) 10 20

diff_bpmda¥ium

| I
10000 —[8uc
—|700
5000 o
o
5000
10000
L 1 1 | L1 1 1 | L1 1 1 I L 1 1 1 | L 1 1 1 | L1

=20 =10 1] 10 20
diff_bpmda/um

diff_bpmd4aY

—{ 900

10000 _— - i

i —{sot

B —700
5000 |~

'I]_— B

i M
5000 -.

_| [ I B B I B |q I I O A I B B A
10000 20 =10 1] 10 20

diff_bpmda¥ium

:
E

SO0

10000

5000

5000

10000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII
|

15000

2000

~5000

10000

5000

~5000

10000

5000

=5000

10000

5000

=5000

10000

:
E

50 100
diff _bpmdeX/um

—70C

50 100
diff_bpmdaX/um

~100 _50 0 50 100
diff_bpmdeX/um

—70C

500

400

300

200

100

I I
50 100 0
diff_|

D0

tpa

5000

5000 —

i u
10000 [~ -

20 -15 =10 -5 ©0 5 10 15 20
diff_bom4eY/um

diff_bpmdeY

10000

5000

=5000

10000

20 <15 10 -5 O 5 10 15 20
diff_bpmday/um

diff_bpmdeY

H:?DUU:— - i
mnnf—.

uf—. "
—EI}DD;
1{?DUU:”'l""l""l'”'l""Hllll””l”"l””h”

20 -16 -10 -5 ©0 & 10 15 20
diff_bpmdaY/um

:
%

10000

5000

= 5000

10000

=
| L I | L I LI I | L I | L I |
|

o e b b v e B b Bevva Ly
13000 20 15 10 -5 O 5 1

o 15 20
n n diff_bpmdaey/um
PNG

—| 700

— 700

—| 700

— 700

100

| —apc
10000
i —go0
- —700
5000
D_
5000
i m 101
10000 |- . -
||||||||||||||||||||||||||||||||||||||||||| ﬂ
300 -150 -100 -50 0 50 100 150 200
diff_bpm12X/um
difL
I
- —aoe
10000
— 700
—go0
5000

~5000

10000
Dl bt o b b b Lo L 0
200 <150 <100 <50 (1] BO 100 160 200
diff_bpm12X¥/um
difL
10000 —eoc
B —{ 700
5000 — —60C
D —
5000
- 10
- m
10000 v e bvve b b v bevwn bvv e I 0
200 <150 <100 <50 1] B0 100 160 200
difi_bpm12Xium
difL
10000 —|80c
B —700
B000
B —60[
D —
5000 —
10000 —
- . . 100
15000 Gl b b beve b beeaa e b L 0

-200 <150 100 -50 O 50 100 150 200
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

run7871 000 re

diff bpm1X

%2 [ ndf

39.53 /40

po 0.9032 + 7.9609

p1 36.02 +0.38
T
~2000 — M {WHH”
4000 ;— ) ih
=B000 ;

A

=100 -50

diff_bpm1X

1] 50 100

¥2/ndf  41.46/ 40
p0  -16.13+11.11 *FJM
p1 26.34 + 0.53 H*|J H{ }
o[ {
2000 - Lw]l[\
=400 :' V
=000 l‘ J{
1 | | 1 1 | | 1 1 11 | 1 1 1 | | 1 1 1 1 I
=100 =50 1] 50 100

diff_bpm1X

¥2 [ ndf 38.53 /40
p0 —43.39 + 25.91
p1 2f7.7t1.2

of
10000 -
C ﬂwﬂ
20000 | mirﬁ
: r*
30000 |-
40000 —

=100 -50

dlthpmlL

%2/ ndf 37.21 /40
p0 -41.68 + 30.18
p1 5291 +1.4

ol
20000 —
i e
| H
40000 hﬁﬁ
[ W
BOOOO -
[ | | 1 1 | | 1 1 1

1] 50 100

diff_bpmdaY

%2 / ndf 43.4 /36
p0 -3.903 £+ 8.455 | |
p1 33.44 +1.82 + _ [
U:‘ ] #
~1000
~2000 { }
-:mnn:— ’
:||||||||||||||I|||||||||||||

-20 =10 1] 10

20

diff_bpmdaY

%2 / ndf 40.73/ 36
p0 -17.37 £ 11.27
p1 60.67 + 2.42
II]_— M‘M -
=2000 _
_ap00 |- { }
v by v v v v Py g |

=20 =10 1] 10

20

diff_bpmdaY

%2 / ndf 29.38 /36
p0 -58.07 + 33.48
pl 3734 £+ 7.2
oF
5000 |t Hﬂ +Jf+
10000 - _-
15000 |
VTR TN T T N T T T A T T A O Y

==
_.__l"._ 1

=20 =10 1] 10

20

diff_bpmdaY

dlthpméﬁL

%2 { ndf 47.95/ 40
+ 1L_-
p0  —0.1456 + 7.9533 IH h
L

p1 32.71£0.35 /
-EE'EID_— }{\ W/

- [
4000 — #
=BO00 N
8000 |-

I | | L1 1 1 | 1 1 1 1 | L 1 1 1 | L1 1 1 | 1 1

=100 -50

diff_bpmdeX

1] 50

100

12/ ndf 44.4 | 40
p0 ~16.7 + 11.1 M
p1 22.01+ 0.48 ﬁf H 5
o
i WFHI{“
~2000 - - Jﬂ }
=4000 l‘ -
~g000 1— }
‘|I|IIII|IIII|IIII|IIII|II

=100 -50

diff_bpmdeX

1] 50

100

12 /ndf 4451740
p0 477 +26.4 #M
}
[ﬂ 2442+ 1.1 +_;H-“:-F|+ -
TOU00 =
oF
10000 f—
B { #”r
20000 & _ %Hh
:mnnnf— _}
i A T T T T I T N T B
=100 ~50 0 50 100

diff_bpmdeX

¥2/ndt 5017 /40
+*+
PO  -49.19 + 31.14 A
-
p1 470.4 £ 1.3
L
20000

40000

diff_bpmdeY

= 2000

%2/ ndf 31.91/ 36
p0 -4 539 + 8. 442
o1 4316 + 2.04

L
- 1000 — ”A{H‘H

=3000 [~

—IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII

-25 =20 =15 10 =5

diff_bpmdeY

0

¥ / ndf 44.82 /36
p0 -15.73 £11.18
p1 101.5 £ 2.7

0
- 2000

=4000

= 6000

 —+—

5

10

—|III|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII

15 20 25

-25 =20 <15 10 -5

diff_bpmdeY

0

¥ /ndf  57.69/36

p0 -56.9 + 32.8

p1 585+ 7.9
5000
0

= 5000

10000

15000

20000 Eero Lo Do b boro b beeee b b Ler g

5

10

15 20 25

A {}'

L

-25 =20 <15 10 -5

diff_bpmdeY _

0

5

10

15 20 25

- 100

100

¥/ ndf 30.77 / 36
p0 —-83.87 £ 50.91
o1 570.7+10.9 W
| il
of- |
ST
w000 } wﬂ#ﬁ
20000 |- |
30000 |-

at 'vs diff

ogression asvim a

60000

~ bpni-fit postpan.

[T I LI I T 1T 1 I T 1T 1 I LI

1

%2 / ndf 54.81 / 36 _
p0  -80.85 + 49.97 {
p1 867.8 + 12.0 @HMM
1
mnnnf— )
zunnnf— W
:mnnnf— }
MDDD:rmI||||I||||I||||I||||I||||I||||I||||I||||I||||

-2 =20 =156 =10 -5 O 5 10

DI

15 20 25

10000

8000

6000

4000

2000

= 2000

4000 —

¥2 / ndf

pU
p1

256/ 37

-0.54 + 8.23

-13.82 = 0.21

****m*hﬂu }

200 -150 100 -50 O 0 100

°1

2000

~5000

10000

15000

40000

30000

20000

10000

10000

20000

30000

40000

I_._

hpleX

%2 / ndf

_Tl—
'l:._

/5

p0

p1

150 200

42.37 /37

-8.506 + 9.828

-37.42 £ 0.26

_|||||||||||||||||||||||||||||||||||||||:||||

=200 =150 =100 =50 0 50 100 150 200
diff

-t ¥2 / ndf 41.44 | 37

- 1

N

3 e, p0 -14.04 £ 8.65

3 p1 2215+ 0.2

3 Y

- ﬁi

:||||||||||||||||||||||||||||||||||||||||1|||

=200 =180 =100 =50 0 50 100 150 200

diff

60000

40000

20000

20000

40000

60000

_bpm12X

¥2indt  37.16/37
-I+-+f
. 00 -12.64 + 12.14
) p1 -338.9 + 0.3
-
+_++J
|||||||||||||||||||||||||||||||||||||||-|||||

-200 =150 -100 50 O 0 100 150




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

diff_bpm1X

2000 - 12/ ndf 40.09 / 40
s | p0 0.6338 + 7.9547
1000
LT p1 ~0.188 + 0.382
- i
ﬂ__ |‘ H}-I- i 'I1-'l'r|'|'_H_| f| 'L"“
- } *
-1000 [
-2000 |-
-3000 |
~4000 :_ | | | | |
~100 -50 0 50 100
diff_bpmlX
aand T * %2 { ndf 36.06 / 40
2000 [ p0 —-B.697 £ 9.302
1000 |- pl  -0.1457 £ 0.4484
5 A
- e
~1000 [ {’ } * |
~2000
-3000 |-
_I | | 1 1 | | 1 1 11 | 1 1 1 | | 1 1 1 1 I
~100 50 0 50 100
diff_"bpmlX
- %2 / ndf 49.2 /40
&000
5000 E_ p0 -15.24 + 7.64
w000 E- pl  -0.266 + 0.367
3000 —
2000 —
mnnf— ) {
: T + tl]. hH_\ -
o -H]ﬁ"“m"“"“'ﬁmﬂ
i #
-1000 *
-2000 :_I I B A B i B B A i B A B |
~100 50 0 50 100
¥ =/ ndt 45 05/ 40
pO —-11.21 + 958 +
p1 0.09441 + 0.45926 |
2000 N
4000 _
6000 N |
] | | 1 1 | | 1 1 1 | 1 1 1 | | 1 1 1 1 I

run/7871 000 regi

oression reg

%

bpm4aY

- ¥2/ndf  38.35/36
2000 -
. p0 -1.641 + 7.968
1000 |- pl  -2.392 +1.710
ST
°F +} memwm -.
- } 1 '
~1000 = | |
2000 :— '
_,:],-DDD :l-l 1 1 | 11 1 1 | 1 1 1 1 I 1 1 11 | | I T | | 1 1 1
20 10 0 10 20
diff_bpm4aY
E - %%/ ndf 47.21 7 36
3000 F )
. p0 -8.89 +9.31
2000
E p1 —-0.9201+ 2.0024
1000 | | :
uf— }kh‘{brw W ‘
n (WU
“to00 | |
3000 —
~3000 | { _
—WDD :I' L1 _I | L1 11 | L1 11 I L1 11 | L1 1 1 | _I L1
T T 0 10 20
E ! ndf EE 05 /36
p0 -11.52 £ 7.65 -
p1 0.6138 + 1.6343 k
1000 — | 1 }
F f M
of _ ’\thﬁmamwh{l” _
~1000 |
3000 — }
3000 —
4000 EI' et r v a o v b v v |_| L

=20 =10 1] 10 20

diff_bpmdaY

¥2 / ndf 28.59 /36

=3000

p0 —-15.84 + 9.60
p1 1.062 £ 2.059
1000 11
ofF | |H+ler ##W
1000
~2000 ;— }

at vs diff bpm-fit postpa

E

bpmdeX

2000 :_ i ¥ ndi 48.31 /40
oo | p0  0.004748 + 7.947653
oF HJqH TS ~0.08339 + 0.34476
E '| I
~1000 | { h-’
~2000
~3000
-4000
5000 B -
:I | | I I | | | I I | | 1 1 1 1 | 1 1 1 1 | 1 1
100 50 0 50 100
diff_bpmd4deX
3000
E %= [ ndf 44 .58 / 40
2000 b
N po -8.449 = 9.299
1000 p1 ~0.1998 £ 0.4051
d b st b T
ﬂ: * h1 t * 1'# |_|}rr -
1000 | } -
2000
~3000 b
4000 - | | | |
100 50 0 50 100
diff_bpmd4deX
5000 F- %2/ ndf 46.02 / 40
mnnf— p0 -15+76
3000 £ p1  -0.1692 + 0.3314
2000
1000 rh } -
o m HL%%WW*HM “_
“1000 ) }
2000 &
~3000 |-
5| |- NN TN T N T T T A T O N A

=100 -50 1] 50 100

diff_bpmd4eX

¥Z / ndf 40.59 / 40

p0 -10.78 £ 9.57
1‘
p1 0.166 £ 0.415 }
L1 I 1||| [I#IT‘FFWWW i
2000 _— }k
4000 _—
=BO00 _—

diff_bpmdeY

- x2/ndf  32.28/36
2000 |- p0  -2.298 + 7.963

i pl  -2577 +1.923
1DEIEI_— H

ol {\H%WW#E#JF \J

- \H :
—H}DD:— }
-E{FDD:—

:|III|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|I_III

-25 -20 <15 10 -5 0O 5 10 15 20 25

91

iff _bpmdeY

%2 / ndf 48.91/ 36

3000

pO -8.012 + 9.301
2000

p1 -1.627 £ 2.248

1000

Wﬁ" —

=1000

= 2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

'IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII

-25 =20 <15 <10 -5 0O 5 10 15 20 25

diff_bpmdeY

%2 [ ndf 45.57 I 36

p0 1212 £ 7.65

pi 0.1719 + 1.8375

1000

1]

b4 +

T
=

= 1000

= 2000

=3000

-WUU:I'l||||||||||||||||||||||||||||||||||||||||||_|||||
-25 20 <15 10 <5 (1] L 10 15 20 25

diff_bpmdeY _

¥ / ndf 28.26 / 36

p0 -14.63 + 9.58
p1 1.322 £ 2.303 i
2000 [ +

of - HLH‘%'W*-‘——*%M{
_:mnnf—_ {’ #
_mnnf—
_Eﬂnn:T,||||||||||II|III|||||'l'"'lllllllllllllll‘l””

-2 =20 =156 10 -5 O 5 1w 15 20 25

PANn.png

diff_bpm12X

}:2." naf 28.19/7 37

pO —0.3917 £ 7.9722

pl 0.05029 + 0.20716

E[FEIU_— -
a |
Bl | {
.[p_— t}-h*ﬁﬂhéﬁm—nwﬁ;ﬂ-#}

—E[FEIU_—

—JH}EIU_—
ol b bvrr b bevee b bvana b b

200 -150 100 -50 O 30 100 150 200

dlthmeZX_

12 [ ndf 48.9/37

po -7.756 + 9.313

p1 0.2877 £ 0.2419 "'W
-1

=2000

-4000

~6000

~8000

200 150 <100 50 O 50 100 150 200

diff_bpm12X

¥/ ndf 41.03 /37
p0 ~13.53 + 7.65
p1 0.06552 + 0.19918
o M}W _
i | } f M“ !
000 - { }
_2000

F v b bvvre b bvre bev v boana brvaa b
200 <150 <100 <50 1] B0 100 160 200

diff_bpm12X

¥= { ndf 36.04 / 37

pO -13.71+£ 9.58

Pl 0.00262 + 0.24812

- |
3 W**"***ﬁ*****“ W

-200 =150 -100 50 O 0 100 150 200



10000 A 10000 10000 I 10000 10000
5000 5000 | 5000 | 5000 | 5000 |
tll o o o of o
aSYyIIl_4d : : : : :
~5000 ~5000 [ ~5000 [~ ~5000 [~ ~5000
10000 |- . - 10000 A 10000 - T 10000 |- ST 10000
_ll L 1 1 II 1 1 1 || 1 1 1 || L 1 1 I _|||||||||||||||||||||||||| _||||||||||||||||||||||| _II|||||||||||||||||||||||||||||||||||||||||I||| _I||||||||||||||||||||||||||||||||||||||||||
100 50 D 50 100 ~20 10 0 10 20 ~100 50 0 50 100 20 15 -0 5 0 5 10 15 2D 200 -150 -100 -50 O 50 100 150 200
difi_bpm1X/um difi_bpmdaYium difi_bpmdaXium difi_bpmdaYium difi_bpm1 2X/um
15000 - — 15000 15000 - — 15000 |- 15000
10000 10000 10000 10000 [ 10000
5000 5000 5000 5000 | 5000
of 0 = of 0
as 9 m atrl 5000 | ~5000 ~5000 | ~5000 | 5000
10000 | 10000 10000 | 10000 [ 10000
15000 | ' 15000 15000 | ' 15000 [ ' 15000
_ll L1 1 II 11 1 || 11 1 || L1 1 I | _||||||||||||||||||||||| _||||||||||||||||||||||||||||||||||||||||||||||| _I||||||||||||||||||||||||||||||||||||||||||
100 50 D 50 100 ~20 10 0 10 20 100 50 0 50 100 20 15 10 5 D0 5 10 15 2D 200 -150 -100 -50 O 50 100 150 200
diff_bpm1 X/um difi_bpmdaYium difi_bpmdaXium difi_bpmdaYium difi_bpm1 2X/um

® ® ! ® ff ! ® [hf ®
40000 | S 40000 40000 | 40000 | 40000
3nnoo 3p00o 30000 annoo 30000
20000 20000 20000 20000 20000
10000 10000 10000 10000 10000 —
o = = = =
as y m atlz 10000 | 10000 | 10000 10000 | 10000 |
— = n n = n
20000 20000 20000 20000 20000
30000 ap0oo apooo apoo0 o000

40000 - ' 40000 - " 40000 - 40000 - ' 40000 -

ErDDDElzll I N N N T N N T N M NN NN M N U N A B EI}EIDU:'"l""llllll""l""l" EDDDD:'|'"'Illllllllllllllll ErI}DUU:”'l""l""l'”'l""l"""”""""”'l'” EDDUU:'l””l""l”"l”"l”"l”"l””l""l'

~100 -50 0 50 100 -20 T 0 10 20 ~100 -50 0 50 100 20 <15 <10 -5 0O 5 10 15 20 ~300 -150 -100 -50 O 50 100 150 200

diff bpm1Xium diff bpmdaYium diff bpmdaXium diff bpmdaYium diff_bpm12X/um

40000 — 40000 — 40000 40000 — ; 40000 —
20000 — 20000 — 20000 20000 — 20000 —
ni ni 0 ni ni
asym_atr2 z ; 5 5
o 20000 - 20000 | 20000 20000 |- 20000 [~
40000 — 40000 — 40000 40000 — 40000 —
60000 — S 0000 E— o s 60000 0000 — o : ST BO000 E—
i - i | | _||||||||||-|||||||||||||||||||||||||||||||||I||| _I||||||||||||||||||||||||||||||||||||||||||

-2 =15 -10 -5 10 15 20 -200 <150 100 -50 O 50 100 150 200

run7871 000 regression-asym at vs diff bpm-scat ° an.png -




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7871 000 r

10000

5000

=5000

10000

10000

5000

=5000

10000

10000

5000

=5000

10000

5000

=5000

10000

15000

50 100

diff_bpmXum

50 100

difi _bpm1Xum

50 100

diff_bpm1Xum

100

egressmn'" >

10000

5000

5000

10000

10000

5000

~5000

10000

10000

5000

=5000

10000

10000

5000

5000

10000

15000

10 20
diff_bpmda¥ium

10 20
diff_bpmda/um

10 20
diff_bpmda¥ium

mbp

10000

2000

~5000

10000

10000

5000

~5000

10000

10000

5000

=5000

10000

10000

5000

=5000

10000

15000

m-sca

50 100

diff _bpmdeX/um

50 100

diff_bpmdaX/um

50 100

diff_bpmdeX/um

10000

5000

5000 —

10000

20 -15 =10 -5 ©0 5 10 15 20
diff_bom4eY/um

10000 —

5000

=5000 —

10000

20 <15 10 -5 O 5 10 15 20
diff_bpmday/um

10000 —

5000

=5000

|||||||||||||||||||||||i|||||||||||||||||||||||
10000 20 =15 10 <5 (1] 5 10 1 20
difi_bomdaYium

10000 —

5000

=5000 —

10000

.15[:":":'_III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

-2 -15 =10 -5 O 5 10 15 20

it postpan.png = -

10000 —

5000 —

5000 —

10000 —

I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

10000 —

5000 —

5000 —

10000 —

D bv bevn b bevvs bevva b brvn e by
200 <150 <100 50 O 50 100 150 200
diff_bpm12Xium

10000

5000 —

=5000

|||||||||||||||||||;|||||||||||||||||||||||
11}UUU_E{?D 180 =100 =50 1] B0 100 160 200
difi_bom12X/um

10000 —

5000 —

5000 —

10000 —

Ll bl o b b b b by
15nnn—Eﬂ'D -150 100 -50 O 50 100 150 200
diff_bpm12X/um




